000000 I — (11)

— Fourter DO OO OO0 —
000000 http://jody.sci.hokudai.ac.jp/ nemoto/enshunll/ 0000000000000

Note 11a. Fourier O O
00 —co<z<oo00000000 f(x)0ODO

~ L . oo .
f(k) = F[f](k) = lim dz f(a:)e_““ :/ dx f(x)e_”m (11.1)
L

L—oo J_ — 0

O f(z)O Fowler 000 O0O0O0OOOOOOO

1

L e}
FUR) = 5=l = Jim oo [k fge = o [ ak faet (1)

oo
DDDDDDﬂ@DDDDDDDDDL/ |f(z)[dz 000000
—o0

flz+0)+ f(z—0)

F UM = : (11.3)
goooood f(x)[IDDDDDDDDD f(x)DDD[II:IDDD
Note 11b. Fourier 00 O OO
Jodoooooooooooooooooooooooooooo oo
(@) Flaf(@) +bg@)] = af(k) +b3(k) () FLf(w -+ a)] = (k)
(c) f[esz(ﬂf)] = f(k—a) (d) Flf*(x)] = f*(k) = f(—k)
© | T2 = i
Note 11c. 000 00O Fourier 00O
20000 f(z),9(x) 00000000
e = [ @' fahge—a) = [ as! fa - gt (11.4)

0f0¢000000000000000000 fxg(z)000003f(z),g(x)0 Fourier O
00 f(k),g(k)0OO0OO

Flf=gl(k) = FIf1Flg]l = f(K)ak),  F'[fallx) = (fxg)(x) (11.5)

googooo

[11.1] Note 11b 000 Fourier 00000 (a)-(¢) 000000

[11.2] (1) Note 11c000000 Fowier 0 0000000000000000000000000 f(z)g(x)
0 Fourier 000 f(k),§(k) 000000000000

(2) 000000000 (f*g)(x) = (g«f)(x)D00000 ((fxg)*h)(z) = (f*(g*h))(z)000000
0000000000
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(3) 300000000000
(f*gxh)(z / dx/ da” f(2")g(z" — 2" )h(x — ')

O Fourier 000 Flf+g#h](k) = f(k)§(k)h(k) 000000000000
[11.3] OO0 ¢(2)0 K(z,2")O o(x) 0000

= /_00 dz’ K(z,z")p(z") (11.6)

00000000000000 K(x,2)OOOOODDOUODOOOOM

(1) ¥(z), ¢(x) 0 Fourier 000 (k),¢(k) 00000

qﬁ(k)z/ (;—I:T/K(k; K, K(k,k’)z/_oo dx/_oo d’ e~ =7 f(z 2y (117)

gbooooobooog

(2) K(z,¢)0 2~2/000000000000000 K(z,2')=CG(z-+)00000000000
K(k,k)0O G(k)00000000000000 ¢(z) 0 ¢(k) 0 Note 11c 000000 Fourier
0000D0000000000

[11.4) 00000 Fowier 0000000000 «a>00000

_ eid‘T? (1.20) _ ,—alz| _—az? _ 1
(1 f(fv)—{ C esy s @@= @@= W)= p
[11.5] ODO0O0O0OO0O 00000000 OOODO
dr dr—1 d n dn—m
(%<ég)+cldyi$)+”'%_lﬁi) (2%)m¢w m> f@)=F(z)  (118)
0 -—-o<zr<ooUOUOOOOOODOOO
(1) O0OOUO0O00 Fourier UODOOOODOOOO f(x) O Fourierd OO
n -1
flk) = (Z(ik)”mcm> F(k) (11.9)
m=0

gbooooooboooogo
(2) 000000 GreenJOOOOOO

<i m(f”ﬂ’:@) G(z) = 6(x) (11.10)
00000 G(z)0 Fowier 00 G(x) 000000000000
= /00 do'G(x — ') F(2') (11.11)
gboboobooooobooboood

(3) F(z) = acos(kx+¢) (a,k,o000)0000Gk) 0000 f(z)0000000 F(x) = ae'krte)
00000000000 0000000

11-2



[11.6) 00000000 100000000000000
mi(t) +ya(t) + wiz(t) = F(t) (11.12)
000000m >0,y>0,w>0000(0

u)umemmmmmmmmﬁwy:/ dte”™'z(t) D0000D000000000000 a(t)0

oooo -

(2) F(z) = Fycoswt (Fp,w0OD)000000000000 #(t) =Acos(wt—¢)00000000
000A4,¢0000000000000000
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